SOASEF D KFH &I

(3)%Fh 3L K ¢
29, 3 [FE28. 3[F27. 3[F26. 3| F25. 3 9. 3| F28. 3| F27. 3| F26. 3| F25. 3
x% & B BlnBgBgdsd x2 & |8 Blg Big Big By 8
g Tlg Tleg Tle Tlg = g Tlg Tlg Tlg Tlg &
ZE Z ZE E2 Z ZE ZE E2 ZE Z
JLEEERK 1 AAEERRZE 2 1
HEEEX 1 BE 1 1
BPFK 1 FERE 3 1 1 3
RILtEE 1 F =R 4 6|5 1|6:2]|5 6 5
RAE=MIH 3 Cif oG 2 T i1 1 1|2 3
HIEEE 2 1 i 4 5 1 1
s 1 RELZF 2
¥R 28 14: 5 |19 84|14 1 FE 5 7 213 1]1:1]3 1
w2 6 5 116 : 2|10 1|4 1 Jt B 2 1|3 3|9 5|6 3|3 3
CFEE 4 3 11 4 1 1 HITLF 1 2 1
IR F 1 1 B 1 1] 4 2 2 | 2
TERREX 1 BEHE 3 1 1 32| 1
=] 1 2 1 TP 4 1| 1 1 1] 2 1
BinEHR 1 1|1 2 B £ e 1 3 122 2|84
EFT 2 E L 12 116 3 3 1
EREEEN]| 7 1 |12 14 2|8 6|7 4 P 11: 1|18 3|10 1|9 2|8 2
HAEX 1 EiELF 2 1
HEEERUA 1 e 3 : 9|15 5|27 3|22 9 (13 4
BE/N—X 1 3 1 EEXF 2 3 1
RIRfaflt 1 1 E R = 3 : 115 1] 1 3
mEE 11 1 5 1 4 1| 1
BEITE 1 1 AR #0 1 2 1
i 1 1 111 1 FRFIZZF 1 2 2 1
B 9 i 2|2 3|1 1]7 8 | 1 FRFIE 1 1
M RZEEZF 1 TFERE 2 1
BARIE 111 1 BHEEXF 1 1
X 4 1 |12: 6|7 2|13: 3|6 3 X E% 115 61|35 2
X RF5 1|1 bk 113 21 3:3[3 5|12
BHH 1 1 1|1 BREF 1
HARE 1 HE 10 17 3|7:3]13 42 4
+XFFERZF| 2 £l{ih 2 2
4 5V 55 2 1112 XIE 1 12
RE 1 2 KEX1E 1 31| 2 1 4 i 1
FETX 2 7 114 3 9 | 1 ¥hE 2 2 1 2
Rk 4 11 EJI 117 212 4 11 | 1
MAEXT 1 % FEE A 4 2 1
i ES] 1 R 7 2|5 2|14 3|8 8|5 10
R 2 4 EHEZ 1 2 | 2 1
BR & 1 1 TR 7 113 8 31109
B 2 1 e 6 2 |12: 2| 11|16 2 |15
EE{E 1 HRE 1




XK F 4

§£29. 3

4£28. 3

§27. 3

H£26. 3

4£25. 3

17}

4T
1=

Bt - 2

17}

4T
1=

Bt - 2

15

4
1=

B {2

iH

41
1=

B

17}

4T
1=

Bt - 2

PIELERE

MEIRXK

RETEKXK

1) AL ZE M

ERREE

EEFEE

HEREE

RFRMLFR

i

ERI%E

IR

M

BRI

BHIK

B MR E

Ao EIVEE

L

3k

hEEREE

fERR

I BB EFRELF

YA &

i E AR

NS

REN K F

RAME FE =i

R AR I =

Cilstas

VA

10

RER

VT 8%

ESi

= = IN[P~DN

y N

P X F 5T

e

X

HR

=B

A& ]

AR K

L =
= A

297

90

391

108

346

116

3592

122

381

127

29, 3 |F28. 3|F27. 3|F26. 3|F25. 3
X 2 4

R 2lnElnln lnf

% = % $1&z§%2$;& =
REREE 1
RIRRIK 1| 2 1 1 2
RREH 1 131 5 4
HERIFE 2 5 111131211
RERXF 1|1 2
RARI= 1
HRZFEFR 1
RREES 1
RRER 3 4|3 :3[5i3|3{5/|15: 1
RREX 7 4 1153 9
REER 1 2
R AR 4 41211 4 2
RRIEFR 4 3|8 8 11741612 1
RF 4 3 4
RF 39 8 [31 7 |19{8 [14i 1|16} 3
y N= 2
=P 26 1 9 (23 14|29i13[32:10|25: 8
AAR#tEEE 2
HARZF 1] 1 6 2 1
=P NN 1 1
BAREEES| 2
XAtZFE 1
B 8 5|16 4(11:6 |17 8|8 10
EFEH 1 1
ECEK 2 2
R 5 3|2:i2|5i3|1i{4]3 3
UL BF 1 2 1|1 1
BBk BF =T 2 4 1
EUBL By & 2
BR’G 3 4 (18 494|176 1212
BRJaF 5 6 7 41282
A5 & F 2 | 2 2
BH=Z 3 2|1:4|5{2|3:2
I 1 2]5:1]6 3 8 3
3 IE 3 3 111
B FeH 1217112 4111115
REREXRXK 1
3%l 2 1
WMEXF 1
rESINN 8 7 91 |14i 2|8 2
HEJIITHE 1|2 2
B R 8




